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1. Prove that there is NO commutative law in multiplication of two matrices, by the following matrices, (15
%)
1 0 2 fr2 1 -3
A=§[-1 2 3‘], B=[0 4 1]
tp 1 -1 -1 2 2
Hint: AB#BA

2. Solve the initial value problem of the following equation, (10 %)

y" + 8y +16y=0, y(0)=1, y'(0)=2

3. With the following properties of Gamma function, find the values of (8) I'(3) and (b) I'(6), (10 %)
r=1, r{etd)=al{a)

4. Tind the Fourier transform of the following function, (15 %)
)= el —oo <t oo
5 TFind the curl of a vector function: (10%)

v = yzi +3zxf + =k,

6. Please find a unit vector n of the cone of revolution: (10%)

z2 = 4(x? + y%), at the point A: (1, 0, 2)..
7 Solve x2y" +xy* +{x? =Ny =10, 10%)

8. TFind the eigenfunction of the following equation: (20%)

¥ +By=0, y(0)=0,¥{T)=0
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